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Grade 4 Mathematics

In which number does the 5 have a place value of 5007

O 5673
O 6573
O 7635
O 3756

Ali used this rule to make a pattern:
"Start with 3 and add 4 each time."
Which pattern did he make?

o 3,4,3,4,3, ..
O 3,4,4,4,4, ..
o 3,7,11,15, ...
o 4,7,10,13, ...

The movie finishes in 15 minutes.

Time now

When does the movie finish?

O Quarterto 11
O Quarterto 12
O Quarter past 11
O Quarter past 12
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Grade 4 Mathematics

Ahmed cut a corner of a cube.
The cut face has a triangular shape. W

Ahmed wants to make another cut face.
He can only make one more cut to one of the shapes above.

Which cut face cannot be made?
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Grade 4 Mathematics

This number sentence is correct.

50 - |?| = 24

Which one uses the same missing number?

o |?|+ 24 =50

O 24 + 50 =|?

o |?|-24 =050

o 24 - |? 50

A book costs Dhs 5.49
A pen costs Dhs 8.65

Aminah buys one pen and one book.

Which is the closest to the total cost?

O Dhs 12
O Dhs 13
© Dhs 14
o Dhs 15

1.10 - [?]| = 0.56

Which number makes this number sentence correct?

o 0.34
o 0.44
o 0.54
o 0.64
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Grade 4 Mathematics

The grid below shows Sara's home and a swimming pool.

H W‘T‘E

S

Key

O (O Swimming pool
1 H Home

N w01 O

A B C D E F

Sara wants to go from her home to the swimming pool.

Which instruction should she follow?

O 1 unit west, then 2 south
O 1 unit west, then 4 south
O 3 units south, then 1 east
o

3 units south, then 1 west

From 14, Mouza subtracted the same number twice.
Her result was 6

Which number sentence is correct?

O 14 -2 =56

o 14 -|?] =6

o014 -2-(?2]=6

o 14 -[?2]-|?]=6
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Grade 4 Mathematics

The perimeter of a rectangular frame is 50 cm.

Two pencils, put end-to-end, have the same length as the
shorter side.

Fatima can fit 10 pencils altogether around the whole frame.

How many centimetres is the longer side of the frame?

O 5cm
O 10cm
O 15cm
o 30cm

Here are four different shapes on a grid.

P Q R S

Which statement is correct?

O Q and R have the same area.
O P and S have the same area.
O Q has the smallest area.
o

R has the largest area.

1"
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Grade 4 Mathematics

Which group of shapes only has isosceles triangles?
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A shop sells picture cards in packs of 6

Aysha bought 12 packs of cards.
How many cards did she buy?

o 2
12
18
72

0 00

13




CJL;JLU—@‘JJ‘ M\

B Sl aKas
(O5S ed 2is y)
S oL

b oS
o) 5049

G J

88 21 o O 2> 5 5
e ld I 5 S ol> sae L

45
H

5 o

15 ©

18 ©

45 ©

‘uw&ub\h{@jdbb@

€4500 Lezass 2Ua; (ol
450 450 45
ia 5 yius 0 pius
O ) -

14




Grade 4 Mathematics

( N

&
Cﬁerry ‘Muﬁ(ins
(makes 7)

1

5 cup of sugar
1 cup of flour
50g butter

2 eggs

15 cherries [

Hessah wants to make 21 muffins.

How many cherries does she need?

O 5
15
18
45

0 00

Here are four number cards.

Which number card has the same value as 45007

45 450 450 45
tens tens hundreds thousands
- - - -

15
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Grade 4 Mathematics

In this puzzle, shapes stand for digjits.

The same shape always shows the same digit.

) 5 6
@)

33 6
22@0
2 5 7 6

Sultan has these number cards.

| (o] [0 [0

A B C D

He places them in a line in order from smallest to largest.
Which number is the third in the line?

o Card A
O Card B
O CardC
o CardD

17
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Grade 4 Mathematics

k] Ali marked 2 August on this calendar.

1311411516 117 118 |1 19

20121122 23 124 25 26

27 12829 30| 31

|

Ali's birthday was 13 days earlier.

On what date was Ali born?

o 19 July
o 20 July
o 21 July
O 22 July

What is the missing number?

13 x 3= [0

16
19
33
39

0 000

19
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Grade 4 Mathematics

Fatima has Dhs 10

2

She spends Dhs 2.65
How much money does she have left?

O Dhs 7.35
O Dhs 7.45
O Dhs 8.35
O Dhs 12.65

Wafa has a spinner. She spins it once.

What is her chance of spinning the number 107?

O Likely
O Unlikely
O Certain
O

Impossible

21
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Grade 4 Mathematics

¥1 Here is a set of 12 triangles.

D > >
D >
D > >
How many triangles is % of this set?
o 3
o 4
o 8
o9

Shaika drew this shape on a 1 centimetre grid.

What is the area of Shaika's shape?

O 6 square centimetres
O 8 square centimetres
O 10 square centimetres
o

14 square centimetres

23
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Grade 4 Mathematics

Which shape has % shaded?

There is some water in Aysha's jug.

=)

~

Aysha then fills up 8 glasses, all the same size.

The amount left is shown below.

M)

N

How much water did Aysha pour into each glass?

o 1L
o 750 mL
o 250 mL
O 125 mL

25
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Grade 4 Mathematics

¥7] Fatima wants to buy a phone that costs 475 Dhs.

She saves 50 Dhs each week. 7’/1

Dhs 475

e

E 0 -

.

&=

T

How many weeks does she need to save to buy the phone?

¥¥4 These two decimal numbers add to 1

0.2 ]| and | 0.8

Write two different decimal numbers that add to 1

27




